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Sr Questions Answers Choice

1 It is always to the detriment of their health.
A. Loss of
B. Danger to
C. Injury to
D. Failure

2 The parents must give the best possible equipment to their sons.
A. Apparatus
B. Machinary
C. Tools
D. Materials

3 Consequently the parents are responsible for their son's education.
A. Therefore
B. Reasonably
C. Surely
D. Finally

4 No boy ought to be compelled to earn his entire way through college.
A. Asked
B. Moved
C. Advised
D. Force(Made)

5 Financial pressure on students is a very serious one.
A. Social
B. Monetary
C. Family
D. Daily

6 Now a days most ambitiousboys want to go to college.
A. Determined
B. Passionate
C. High-flying
D. Hopeful

7 The college boy generally wins out in all the controversies regarding his career.
A. Discussions
B. Fights
C. Disputes
D. Talks

8 There is no substitute for health.
A. Repalcement
B. Solution
C. Cure
D. Alternative

9 The students needs physical vigour to study well.
A. Energy(force)
B. Courage
C. Intention
D. Determination

10 The boy was absorbing too much poison.
A. Getting
B. Having
C. Recieving
D. Taking in

11 The father asserted that God had put the tonsils in his son's throat.
A. Stated
B. Said
C. Said forcrefully
D. Said clearly

12 The father did not consent to the operation.
A. Like
B. Admit
C. Accept
D. Agree to

13 Occasionally, we meet old-fashioned fathers.
A. Specially
B. Rarely
C. Always
D. Sometimes

14 The doctor explained to the faculty the students health problems.

A. (Teaching) staff

B. Workers
C. Senior teachers
D. Main teachers

15 The doctor explained to the students their health problems to their enlightenment.
A. Joy
B. Better understanding
C. Relief
D. Satisfaction



16 The doctor described the health problems to the students to his unspeakable relief.
A. Very great
B. A little
C. Some
D. Usual

17 The students needs a thorough medical examination.
A. Perfect
B. Proper
C. Complete
D. Satisfactory

18 The student should undergo a medical examination:
A. take
B. appear in
C. go through
D. experience

19 The reason of their poor academic work is notapparent:
A. understandable
B. clear
C. outside
D. visible

20 The immense number of failures can be avoided:
A. surprising
B. unexpected
C. rising
D. great


